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2017-01-09 [%& INS=PNR=ES{CDN; N 17 H 48,994
2017-01-16 | & AH2HAHH E O At N 17 H 24,990
2017-01-23 |% AHEAHY & O At N 27 H 66,987
2017-01-23 | & AH2H AHH & O At N 14 o 28,000
2017-01-25 |% AHEH A & O Xt N 23 H 42,987
2017-01-30 | & AH2H AHH & O At N 27 | 46,980
2017-02-01 |4 AH2 AHH E O At N 141 H 141,000
2017-02-13 ¢ INS=PNa=ES{CDN; N 44 H 82,984
2017-02-27 | AHEHAHH E O At N 33 H 64,977
2017-03-02 |4 INS=PNa=ES{UDA; N 98 H 98,000
2017-03-17 |& AH2H AHH E O At N 22 H 52,998
2017-04-01 | H4=S4H INS=PNa=ES{UDN; N 81 H 81,000
2017-04-12 & AH2t AL & O At N 23 H 57,983
2017-04-14 |& AHEAHH E O At N 24 H 33,984
2017-04-14 % Ah2t AL & O At N 17 H 34,000
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